&% 5 1L [E1 R AIl'TAL

PCV %35l

oA v

R5kE PCV06 | PCV08 | PCV10 | PCV15 | PCVO6F | PCVOSF | PCV10F | PCV15F
T/ENE ZERMEA0 u ML EIRHEER)

{FRENEE 0.15~1.0MPa

IREMER D 1.5MPa

TCRREHE

S EEN 60(Z/5) 40(R/5) 60(ZR/5) 40(R/7)
BBOL L PT1/8 | PT1/4 | PT3/8 | PT1/2 | PT1/8 | PT1/4 | PT3/8 | PT1/2
5088 |M5X0.8| 1/8" 1/4" 1/4" ®6 6 »8 »8
S8 HCIH| 53.2 | 94.8 | 142.8 | 189.6 53 90 142.2 | 188.1
(9 [GFA 54.6 | 94.8 145 189 54.2 | 90.6 | 143.4 | 187.6

[H1 BEFUECH. PTH. NPTHIE,

EmEH
i 2B e . BORENZZ08;
1| SR BTN 2. RELREISIEEN
2 OE =il 3. OB EER;
3 |F®OS | NBR 4. FBEEOBET, UENGLTEER, BReRENE,
4 L) =i
5 BE SUS304
6 Agg =il [~
7 | witios NBR RS, it 5T & 15
8 | omuB NBR
o | BREE BondEn RENEOE
10 | 2R =M+NBR
11 BE SUS304
12 EEE =il ‘
ORBRE | OBEBEOR OxFOBKXKEB (@I BRI H5
FEONN |[EBEORBRY| BEEBEE0K
06: 1/8" M5X0.8 1/8" .
PCV: B |08. 1/4" |Z2E: WM | 1/8" 1/4" GEIG%PT%
IFOR| 10: 3/8" 1/4" 3/8", 1/2" 1. NPTS
15: 1/2 T 8. 14
: BE Tog 3/8", 1/2"
mERE. RIMEEBNETEENBRAR
BR/NSCER DR T ER DR RHES
mERI 2.0
2500 1.8
1.6
2000 PCV15 < 1421
1500 2
_ PCVII0 1.0
= R
=
= 500 — — & 0.4
Bl ———— Pcvos & 02
5 O0 1 2 3 4 5 6 0O 1 2 3 4 5
SE(bar) TYEBS) (bar)
HMAFER
RELENL A
z-@”
P
Ll g——h []
Pcs X3




&% 5 1L [E1 R AIl'TAL

PCV %3l

S ERRE
PT/NPTZ ~EA
EA ] o0
‘ HB_ RC ﬁ
i
(=2 L,;,_‘
HA ‘ HA ||
© \ RB
O]
i |
‘ |
[aa] Qe o
U—'<(¢ <
© RA Or LLINRA
PR RiGERT
BISR\RSR | C CA | D EA EB | HA HB RA RB RC
PCV06 |48.5|7.5 - 16 116.5| 14 | 12 | PT1/8 | PT1/8 | M5X0.8
PCV08 59 10 | — 120.3| 21 17 | 14 | PT1/4 | PT1/4 | PT1/8
PCV10 |74.5| 11 - 25 26 22 | 17 | PT3/8 | PT3/8 | PT1/4
PCV15 | 79.5| 14 | - 28 29.5| 24 |19 | PT1/2 | PT1/2 | PT1/4
PCVO6F 6585 |75| 6 16 116.5| 14 | — | PT1/8 | PT1/8 —
PCV0O8F 67 | 10| 6 |20.3| 21 17 | — | PT1/4 | PT1/4 -
PCV10F 82 11 8 25 26 22 | — | PT3/8 | PT3/8 -
PCV15F 87 14 | 8 28 |29.5| 24 | - | PT1/2 | PT1/2 -
GH*F ‘ A
HB_ RC

©
o
ii e un e NG
O
RA
PR BRIBRER

RYSR\FT 5 C |[CA/ D EA | EB HA HB| RA | RB RC
PCV0O6G | 48.5 /55| — 16 19 |14 112 | G1/8 | G1/8 | M5X0.8
PCV08G 59 65| - [20.3| 24 |17 |14 | G1/4 | G1/4| G1/8
PCV10G | 745 /75| - | 256 |30.5|22 |17 | G3/8 | G3/8 | G1/4
PCV16G |795 | 9 | — | 28 |345|24 |19 | G1/2|G1/2| G1/4
PCVO6FG | 58.5 |55 6 16 19 |14 ] - | G1/8 | G1/8 -
PCV08FG 67 |65 6 [20.3| 24 |17 | - | G1/4|G1/4 -
PCV10FG 82 |75 8 | 26 |30.5|22 | - | G3/8|G3/8 -
PCV15FG 87 9 8 | 28 |34.5|24 | - | G1/2|G1/2 -




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



